9 5f(y-3 x+z -5y 2]-[6z 0 x x)

3 300 1| |[-6 -3
12)|2 =5|-|1 -5|+|=3 6
6 1| |4 2| |1 1

Use the following Matrix to answer the corresponding questions (13-16)

2a 3 -16 2 13) What are the dimensions of matrix A?
A=|4 k+12 2 6b o W )
t try a3 ;7
-8 . 4 p ) at1s entry a; ;

15) What are the entries on the 2™ row? (write them down)

16) Use the following matrix B to find the answer to the following:

—2a 4 11 ¢

B=| 7 3k : b
B 7
9 x-1 6 ¢

2A+B

2-
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Simplify. Write "undefined" for expressions that are undefined.

nl3 2 el fe 2 NERE i 6
1 5§ 6 6 4 6 <) -1 -4 ' 4
nl|3 -6 ‘r,_: 2] [o si‘ [s] | s |
{-2 2 -6 - i X -6 | 4) 4 I.E..s ) |
i P 2|
L77) L7+ J
I3 3 3l l4 5 1 o[-1 4 s 6]-[-s -s]
$) & ‘ - . :
Lo 4 1[%[s -3

N EARE] D4 meap)efam' m]-[a
4 _SUL-() " 2y ’
-. J

Peniad
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